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Eﬁ £-3 The figure shows two air-track gliders he Id together with a
string. A spring is ||;,,htl compressed between the gliders

a) and is released by burning the string. The mass of the

ghdrrun the left is twice that of the glider on the ||;,ht and

they are initially at rest. What is the total momentum ol

both gliders after the release?

If the glider on the right in Question 33 has a speed ol

h) 2 meters per second after the release, how fast will the
glider on the left be moving?
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9. Which of the collisions in the figure are possible and which

are impossible? The objects have identical masses. (Hint:
Which collisions violate conservation of momentum?)

Befare collision After coltision

Q - .
) Tl =1 9 ot
D) Plaato) =2t dorgich
Plafery = v+ mu =ami- *lvf‘faHg =
) uihe-fme)“:_ My-mu-=0 -
PlaHa) = ~mv +mim =0 f
d) Plpe) = My —IMU = Ml

Plalde) = - mv- +mr = ) Cz%%



O FAN f”*z)%

CPS (cont)

N = Fat
? ? Roth e dmp samue
iS‘lancl $ Same ma’s,
So He /ana’n _:rdeuo[ )

(Ot |, Mo, i chgy i
momm%m ﬁr e& €55 /5

4roung

ov(f, % (jj W}”J\ Al‘h’ 7"4& :/}Bld ]’MJ' A
lonyer hou 0 )")"-f (Ao o VA (v5/u°nm-2
7%“5 NZwrCJ lss Are 7‘; 57’5,0 Z wil nd &rm)(

@ T samv icddea as ahowe. Whan /m)af;yg
from & hecsit wwrcrf"fﬂ/ceasnw
‘7(4”‘—( o shw ':L; C'j )olrsxb,ﬂg

n r e d', ro/}, Ao a /lon
ff’ff?é S A1 ch ajns r[}:ss rcejl,‘

I~e55 c}\ancx Df bnkor %a:us

@ 54”6’ ing  Cars dtal&micﬁ
b -&}fenmds /’"f” Se
or w:%d‘ o Soot M 77!-1-_!‘4"&2‘
%U)u5+ jmés more Frme Fo Shw



ch.6 Hw P “aé%/
P./wﬂum/{
(O fzmu Pry= =P

) p =(200g(300nfs) = Lopoo gms
b) p= /oo & (o/mls) = /00 bju)s
o - 70 ks (Oms) = 760 %M/)’

o) p = /o,oookg[owmjs) = /00 1 m s

- @ rJTor =+t
a) Fror s MU, +tm U, = lkéfs‘,,,)s) —Hﬁ[{"ﬁ) =)
b) Bps 2K (Fls) -5&9{2@ 2 =7 kimly fo St

€ gt

C) ﬂor < ( /ooorD(c'-’Oh}s) +{ /00013)( Pm| _‘): @0)00013_?_ ‘fn(ﬁ"'

OD Frop = (looonY‘w’Osz) - (1000 '@@‘)m's\ = /0,006 b Jo wed
wes+ eest Z

{ﬁ |Mfu\$€_ = d(mv) = F O

&) Ame)= 0.5k (35ms =0)= [¥.Skym|s

—

D) n(me)= O-Z«kg("s'"}rb): 3 \zjn\]s
<) plmw) = 11,000 ks (Bn)s -0) = 45,000 kg w5

—_—



Ch 4 Ho o'l
| ©
farbs ()

Comt)
O W?&J—-ﬁ&."7 \
[mpdee = Q@”‘) FDt — p:—%(z\r

&) |HS kamls - (3.5N
|seC

b) 3lgmls - 30N

D.lsec

- Q) Y% Kghs _ ysmo
| o5
L.
Damajt relodes o ot -ﬁorLQ £ k)
areq over CUhidh ’For(.t (s sf’wzaa’

b < (Pressu—

Arren
O a) Inpudac = Bmy~
_Anbuling

Q) b&\d) 1400 (901 ur) Blmo)= 300Ky (3 kmfyy -0

= R (,c,oo h:)kn]k, - =240,000 kg TN

= b) Erehidy s ok 12,006 ¥9¥mlhr F= 2,000 Fabmlhe

0 -8sec T dsec
=15} 500N = (20,000 N

Q) Gen = F -



€3
© b
J) aeel = E y
RS0 Wi . 120,220
C(far: I‘IOOh} A 3060(3
= N2 m = Y0 mfs+
(7> Man RN
mz=4%h m‘a(of},j_
- < 148 Ugs 2

Ys¥g (1454/s) = 65 kg Uy
9.% P'/S = Uy
b) Ends, wetls | Cons. of Mom. s eesser

D Thro e oran In YA oppos) do c{ar«é’;?!?ﬂ”‘t
®i w?” slow do{in om \Laﬁzrsnsomﬁm of

morngntv N~

@ F_ = mtugf' m-z.ut_
10T
a)-

- 1000 ta (so m}b — /oooké (JS'm),s)
245t wes

?11-(:: 25,060 ‘fé"‘/s Lat



Ch.( W %/Oé
Pallo. €8)

T —

s (@200 9 zCWugMuf callids é5M7
P@‘F'ﬁ) = 25,000 Kﬁ"‘}s b easd Lo ,«mtﬂj

Qm&: ﬁ)k(\;* = 25,800 kﬁ"!b -~ (m'-[-rﬂz) J—F

_5251% ‘%% = U_g
K600 KZ

\!Q-Smjs e UY J

Tl (0. #2
'C%L%jr\_r?: 3m) @ r=0

m :)o,ooa\(g m = 30,000 "2
()M-orc_ = Im \, = Jo,006 za (:m}s) = 30,000 ‘-’3‘"45
PQH"r': Phefufe_: 30;000%”«‘[; < @’J,-#-m-,_) V-_F_

30 PO E} mls =
’10;000% F

IORSM}S — Ug_l




Cps 0% M 400, 1

m,u‘} = -—mLU“L




